


H & 0l & A & M A

2M: DEHSY
A YSSHN 75
ciel: WysE B3

2A -3 - S2A(3H) - HRAY - BHES Off &by JN 3 A HnsZ
RS 30,064,504 19,922,651 10, 141,853
2 2,001,023 148,705 1,852,318
2 504,161 1,114,323 £610,162
g 232,455 232,499 Al
= 2,899,008 2,804,043 4,15
2 24,427,767 15,582, 181 8,8%,586
ZUSISHH 2= 814,347 607,927 206,420
= 29,500 0 29,500
2 784,847 607,927 176,920
Zusrs 2as) 814,347 607,927 206,420
=2 29,500 0 29,500
z 784,847 607,927 176,920
Zusts X2 174,540 108,420 71,120
201 Y2 o] 10,740 9,620 1,120
01 ArR el 10,740 9,620 1,120
OBMDSHS| HNLY
A 70,00024462 25| 840 420 420
OBMNSADHOIS| BHHLE
2N 70,00020+10% 23] 1,400 700 700
301 Y EZ 162,200 92,200 70,000
MBI A 151,000 81,000 70,000
©BIED| DEDA LAY
70,000,000 14! 70,000 0 70,000
TMSE 2% B2 216,207 136,207 80,000
201 Yer2 | 111,207 9,207 15,000
0 22| 34,000 19,000 15,000
02222 2 HA
2% 20,000,0002014! 20,000 0,000 10,000
AL IR
247 10,000, 00081%14! 10,000 5,000 5,000
401 AIEBIL2 0| 75,000 40,000 35,000
01 Al 75,000 40,000 35,000
OLAOIZIO0IR OIHY M2 2/2LYY Of
9 BET2 THAK 75,000 40,000 3,000
OHMEISD 2222 Al
27 35,000,008 414 35,000 20,000 15,000
OBMEIET 2|20 (12 FIITBA
20,000,000 14} 20,000 20,000
405 XHaHE S| 30,000 30,000
01 KAt USBFHSH| 30,000 30,000
OBMSSD BETAY LU (E 22
s 30,000,00024% 14! 30,000 0 30,000
TMSET Al BaE AR 102,200 87,200 15,000
201 Y2 | 64,000 51,000 13,000
01 Al 22l 8,000 0 8,000
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2A: RSHSL
BE: PUSISHN PE
9l Buss 245 (2o w2
S - B C(BH) - HSAY - BER 0l &ty N3 o Hms2
oTMES E22 NX(BUSS SNIS)
5,000,002 14! 5,000 0 5,000
OEMsIgsHH Z208 238 NSyl
500, 00021 +6H 4 3,000 0 3,000
03 &A=l 52,000 47,000 5,000
TS AN A2
247 10,000, 0008+14] 10,000 5,000 5,000
01 LHBHS 38,200 3,200 2,000
14 JIEtE A= 38,200 36,200 2,000
OmMSISME TR 2 UNE
A 100,0002+108]4624 2423 12,000 10,000 2,000
HoI2HLS A 100,400 89,600 10,800
201 gste gyl 21,200 17,600 3,600
01 At 2t 7,200 3,600 3,600
OnM 2 HBES 7
2 600, 000814 12004 7,200 3,600 3,600
R REET 14,400 7,200 7,200
01 Aot =S FSH 14,400 7,200 7,200
oA U oIT, CINERSIII| 7
21 1,200,00084 1274 4 14,400 7,200 7,200
Hol2ailns XA (34l) 29,500 0 29,500
= 29,500 0 29,500
201 L2y 12,900 0 12,900
= 12,900 0 12,900
01 AtR2t2)H| 10,500 0 10,500
ORNT UL LW, AES § 7Y
35,0003 %120 4,200 0 4,200
2 4,200 0 4,200
oA HEaE Mt
275,000 = 1200 £ 3,300 0 3,300
= 3,300 0 3,300
OUIIE 2HDS S FH YT L PY
120, 000252550} 3,000 0 3,000
= 3,000 0 3,000
03 &@A2EHI 2,400 0 2,400
CEEN EEINCIF =)
6,000R! 2508 %13 1,500 0 1,500
= 1,500 0 1,500
OSHBIY BA B0 AR S)
900,000 +14] 900 0 900
= 900 0 900
301 RIENZ 9,600 0 9,600
= 9,600 0 9,600
11 HAAHIXIRS 2,000 0 2,000
OBAHZEH!) BOIXt At
8,00021+25023 13| 2,000 0 2,000
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2A REHF
I HASSHM 5
ool gdss 243 (et ®H )
SA - B - CRI(3) - ASAY - BES 0fl &l ol @ o HIZE2
= 2,000 0 2,000
14 JIEtE2=E 7,600 0 7,600
OUXIgHRI2H LT 2ASE
80,0002 #192) x5 & 7,600 0 7,600
= 7,600 0 7,600
307 Qlzrold 7,000 0 7,000
= 7,000 0 7,000
05 IRIFIEE 7,000 0 7,000
OUXEH2HNE 2SLI(LISTH)
7,000,0003 %14 7,000 0 7,000
= 7,000 0 7,000
R[0b.=. EE WSSEN =25 1,964,139 1,860,327 103,812
= 348,653 348,653 0
s 1,615,486 1,511,674 103,812
R0t.2. 58 WSS =5 1,964,139 1,860,327 103,812
= 348,653 348,653 0
= 1,615,486 1,511,674 103,812
uURIH(E.2.28) N 1,066,833 1,023,021 43,812
308 KX HHSOIE 1,085,433 1,021,621 43,812
08 WFI|AMCISEE 3,812 900,000 43,812
QuEZH XA
Z2F 943,812,0003 14 943,812 900,000 43,812
dAHU2UFN 2E 200,000 140,000 60,000
308 RXIHMSOIE 175,000 115,000 60,000
08 WEII2H0ICHS 2= 175,000 115,000 60,000
ONZME (HICIME, X &ME) X&A
ZE 60,000,000& %14 60,000 30,000 30,000
OO0tz Wa==E A
30,000,000 14} 30,000 0 30,000
Ots=R s 4,591,757 4,572,707 19,050
= 760,793 140,705 620,088
= 370,439 982,502 612,063
2l 8,400 8,400 0
= 1,578,162 1,574,149 4,013
= 1,873,963 1,866,951 7,012
HASE ors2el 968,357 968,357 0
= 65,105 65,105 0
z 87,424 87,424 0
b 8,400 8,400 0
= 29,177 20,177 0
= 778,251 778,251 0
CEAHE SEAtd2 109,280 109,280 0
= 87,424 87,424 0
= 6,557 6,557 0
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A
K RH -
L= I

o).

2A -3 - S2A(3) - ARAY - BES Ol &tH DI Hwusz

= 15,299 15,299 0

201 Yere | 14,640 14,640 0

=, 11,712 11,712 0

= 878 878 0

2 2,050 2,050 0

01 AkRZ2lb| 12,240 12,240 0
OEEAHUIOIN 22|

250,000/ 14! 250 0 250

2 200 0 200

= 15 0 15

2 B 0 %
OSHAEIEANY S|

A 2,750,008 <14 2,750 3,000 £250

2 2,200 2,400 A200

= 165 180 a5

2 385 420 A%

301 et EZ 94,640 94,640 0

2 75,712 75,712 0

S 5,679 5,679 0

2 13,249 13,249 0

01 ABBI 2B E 43 2(2D2ZH) 93,140 84,240 8,900

OMHAH0IS REHAHIA I

27 93,140, 0002 %14) 93,140 84,240 8,900

= 74,512 67,302 7,120

S 5,580 5,055 534

2 3,039 11,793 1,246

1 A2 0 400 A40

OHAIEII 24 23 07l 0 400 £400

2 0 320 A3

= 0 24 £24

2 0 56 A58

14 J|EH2 43 1,500 10,000 8,500
OEZI2 XH AME

A 1,500,0008%13] 1,500 10,000 8,500

= 1,200 8,000 £6,800

< %0 600 £510

2 210 1,400 A1,190

HE0LE 22 2,889,600 2,889,600 0

= 695,688 75,600 620,088

2 4,000 624,088 £620,088

= 1,389,658 1,389,658 0

2 800,254 800, 254 0

NERTEN 885,840 885,840 0

2 620,088 0 620,088
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2AH: WsHSU
I Ols=A B

el 250t 2l (S AR
2A - ZH-SAA(3) - HRAY - BES Ofl vy A el ImE=r=
s 0 620,088 £620,088
& 79,726 79,726 0
= 186,026 186,026 0
301 LetEH=S 885,840 885,840 0
= 620,088 0 620,088
s 0 620,088 2620,088
& 79,726 79,726 0
= 186,026 186,026 0
01 A 2B XSS (FL2ZHE) 885,840 835,840 0
oots=g =0
ZZF 100,0008+738. 28128 885,840 835,840 0
= 620,088 0 620,088
ras 0 620,088 £620,088
== 79,726 79,726 0
[ 186,026 186,026 0
ol==X 24 733,800 714,750 19,050
= 279,015 270,990 8,025
LS 159,327 155,314 4,013
T 295,458 288,446 7,012
Xotsdle 2128l XA (=12) 455,850 439,800 16,050
= 227,925 219,900 8,025
= 113,963 109,950 4,013
= 113,962 109,950 4,012
307 21201 ™ 455,850 439,800 16,050
s 227,925 219,900 8,025
L 113,963 109,950 4,013
= 113,962 109,950 4,012
10 Al STIALHE 2SI 2L 455,850 439,800 16,050
OX=E0tSHE 12| K& (2921015}
A 7,062,500 x4 A+ 122 339,000 322,950 16,050
o 169,500 161,475 8,025
= 84,750 80,737 4,013
= 84,750 80,738 4,012
OXIEOotSHIE! Q1244 K& (3021014)
2E 9,737,500 11 2128 116,850 116,850 0
z 58,425 58,425 0
=3 29,213 29,213 0
= 29,212 29,212 0
XGotsAE 148! X3 (XHMZFI1) 34,676 38,676 4,000
307 21201 34,676 38,676 24,000
10 ASISXALHEZSHE L 34,676 38,676 24,000
ORLXA0ISHE SAKL S+ NE
Z2E 1,663,6062+3H %23 9,982 8,900 1,082
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2N

K XM -
<=

e

mESys syl
Ol==x S8
OIEEX 29

2A -8 .. AA(SH) - HISAEY - BES Oil &+l 3o Hns2
OUAXAOISHE BAX R X
A 0 0 6,432 16,432
OXNSEOISHE SAK K38
150,000 %9 » 13| 1,350 0 1,350
XHOISHE 25HE X (RHZE) 18,000 11,000 7,000
307 QI2t0IA 18,000 11,000 7,000
11 A S MAIEE R 18,000 11,000 7,000
ORI XHNOISHEH =2FHE HOX
@ A 2,000,000825] 4,000 2,000 2,000
O RNNOISHIE 25HE 22 X
Z2A 3,000,0008%23 6,000 3,000 3,000
O NAOISHE EME 2= X2
3F 0 0 2,000 £2,000
QUAULDA XAUOISHIE SFHHE AT
j& A 2,000,0002+25 4,000 2,000 2,000
QOEZHOIBIIIE NHOISHEH S5 HE 2
o X AA 2,000,000823] 4,000 2,000 2,000
HAE 55 U sS4 307,388 280,388 47,000
= 10,730 8,000 2,730
< 2,800 2,800 0
= 313,858 269,588 44,270
HAE HE 84 313,488 268,888 44,600
= 10,730 8,000 2,730
< 2,800 2,800 0
2 299,958 258,088 41,870
HAELHY 29 278,988 238,288 40,700
201 et HH| 171,338 141,338 30,000
02 2229 81,000 51,000 30,000
OZZR2 ¥ HA
AX 6,250,0008 12 75,000 45,000 30,000
307 QIZHOIE 900 200 700
06 282 900 200 700
QIE2Iy ¥ S0l 2% 288
AE 30,0002*303 500 200 700
405 KHAHE SHI 20,000 10,000 10,000
01 R SEF SH| 20,000 10,000 10,000
OFAEHSUY ZHY YI2HF
ZA 10,000,000 % 14! 10,000 0 10,000
DEAE SHEHXY 3,900 0 3,900
= 2,730 0 2,730
= 1,170 0 1,170
301 LBtE RS 3,900 0 3,900
= 2,730 0 2,730
z 1,170 0 1,170
01 ABIERELFHS(2LEZME) 3,900 0 3,900
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24 DEUSH
Hy: HAE 935 U |4
ol 349 AW =4 (e ®E)
2A - B - A(30) - HRAY - BLES Oll &Y 3o Hns
09" LE SEXY
650,000 +67H 2 3,900 0 3,900
= 2,730 0 2,730
= 1,170 0 1,170
HrE B X 3,900 11,500 2,400
XSHAEEOIIT SS(HAE HOX) 2,800 1,400 1,400
201 Ler2 2,000 1,000 1,000
01 At 2,000 1,000 1,000
OFAY HOIRINI 2% 22 Y
23 200,0008* 103! 2,000 1,000 1,000
301 YerEEZ 800 400 400
11 BAFAHIXIRS 800 400 400
OFAE BOSINE ALl
28,0008 x202+53] 800 400 400
DDLVAIL HAESARG 2 (HAW 2YNY) 2,000 1,000 1,000
201 L2 1,200 600 600
01 AL B2l 1,200 600 600
OFAUZIRANG 2F 22 7Y
23 200,0002+63] 1,200 600 600
301 LR 800 400 400
11 S#ALAIHIXIE 3 800 400 400
OFBAUSHANS SAH NE
FE 8,008 *202+52] 800 400 400
AN ZHE At 13,623,712 6,105,084 7,518,628
= 1,200,000 0 1,200,000
I 224,055 224,099 N4
= 987,415 937,415 0
z 11,262,242 4,943,570 6,318,672
N 2,082,096 2,036,468 45,628
I 224,055 224,099 Jav:t3
T R,415 2,415 0
= 1,765,626 1,719,954 45,672
HzEd NsZEs A3 125,792 125,828 N36
| 62,8% 62,914 PN
= 62,8% 62,914 A18
307 2I2HOI& 125,792 125,828 A36
2 62,8%6 62,914 A18
iy 62,8% 62,914 A18
(2 BIIZAAIY R X 125,792 125,828 A%
OUSUHSES XISK HHX
2T 31,448,000 44 125,792 125,828 AP
p] 62,8% 62,914 N
= 62,8% 62,914 AB
M=z 2¢ 730,743 685,026 45,717
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SA: DS
A JUMF I3UY 23t
o°Rlr NEgEs |4 g (EH) & S)
2A - 33 S2(21H) - AFA - BES Ofl &by Ny HnsZ
307 2IZH0| A 730,743 685,026 45,717
03 I HBEE2SHIER 726,243 680,526 45,717
OgA=2MS2 l2dl XA 501,226 475,509 25,717
OAIR=E 2F 64,278,000&+1H 64,278 61,637 2,641
Ona 109, 140, 0002 * 14! 109, 140 0 109, 140
ogd ZE 94,879,000 %14 %,879 195,048 100,169
OF=22 ZE 111,149,000 =14 111,149 104,288 6,861
OHSHESXTK
BE 42,772,008 1 42,772 41,055 1,717
O4UEE (A RRES)
A 43,728,0008%14] 43,728 38,512 5,216
eGEEDE 27 35,280,0002%14] 3,280 4,969 311
QUAZHFE 2| XA
A 11,770,00080 % 14 11,770 91,770 20,000
MEHSXCA 2= U2 188,688 188,742 AN
pl 94,344 94,371 AZ7
o 94,344 94,371 A27
307 QU201 188,688 188,742 AB4
7l 94,344 94,371 L7
= 94,344 94,371 N27
2 UABAMNBEE 188,688 188,742 AR
OME MK BRI
FE 31,448,000 «6H 188,688 188,742 A
7 94,344 94,371 AZ7
= 4,344 94,371 N7
TOHQl A=A 015 ALY 19,002 19,091 1
2 13,364 13,363 1
= 2,864 2,864 0
=z 2,864 2,864 0
301 LEIEES 19,092 19,091 1
7l 13,364 13,363 1
= 2,864 2,864 0
= 2,864 2,864 0
01 NI EEE4FS(LEZH) 19,092 19,091 1
OFOMY AX=2AZ 0|22
ZE 19,092,000 14 19,092 19,001 1
ol 13,364 13,363 1
& 2,864 2,864 0
T 2,864 2,864 0
HEAE &5 10,555,000 3,100,000 7,455,000
= 1,200,000 0 1,200,000
== 845,000 845,000 0
= 8,510,000 2,255,000 6,255,000
HEHESHFZ LAY 3,906,000 2,105,000 1,800,000
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M DEHS
B QoINS AW 2B
9l MSAY BE (el M)
SA - FH - SAEH) - HTAY - BYS 0 el Il o HIDZZ
401 AlZHI 20 3,905,000 2,105,000 1,800,000
01 Al&Hl 3,880,000 2,100,000 1,780,000
O8Y HMENEIE XZEMY
ZF 2,980,000,000 *14 2,980,000 2,100,000 880,000
QEUEX 24a= 900,000,0003 *14 900,000 0 900,000
02 Zeldl 20,000 0 20,000
OAHEAIHAEY 20,000,000& 14 20,000 0 20,000
o BT AL 400,000 0 400,000
401 AIZ B0 330,000 0 330,000
01 Al&HI 300,000 0 300,000
OSez HESA 300,000,000 * 14! 300,000 0 300,000
02 eltl 30,000 0 30,000
o=dZ deled 30,000,000 * 14 30,000 0 30,000
405 XHaHE =HI 70,000 0 70,000
01 At =2EHSHI 70,000 0 70,000
oBYE Ul L JINH P
70,000,000 14! 70,000 0 70,000
2 MEFH ST LM (HEANY) 1,385,000 0 1,385,000
401 AIE2HIZLSR0BI 1,385,000 0 1,385,000
01 Al&H| 1,385,000 0 1,385,000
OZE HEHNESE ZEAMS
1,385,000,000 & <14 1,385,000 0 1,385,000
SIS0 BT SBAY(DEAL) 1,015,000 0 1,015,000
401 AlIZHIZLS 0] 1,015,000 0 1,015,000
01 Al<Hl 1,015,000 0 1,015,000
OH=ETY ALY
1,015,000,000& * 14! 1,015,000 0 1,015,000
AQIZ2ZE s EXI3A 2,400,000 0 2,400,000
= 1,200,000 0 1,200,000
= 1,200,000 0 1,200,000
401 Al HIZS O] 2,400,000 0 2,400,000
= 1,200,000 0 1,200,000
= 1,200,000 0 1,200,000
01 AlZH| 2,390,000 0 2,390,000
OLY AISAINT HoE TLBA
1,190,000,000 & 14! 1,190,000 0 1,190,000
O AICIZZIIE s ZE3AM
1,200,000,0002 14! 1,200,000 0 1,200,000
= 1,200,000 0 1,200,000
03 Al 220HYI 10,000 0 10,000
Ouiols &3 A AIZR0HYI
10.000,000& * 14! 10,000 0 10,000
A ZER2EHY FFE HEFSA 1,300,000 845,000 455,000
< 845,000 845,000 0
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24 DEASD
Ha: ooHHS WA s
o9l MSAL &=

(E19): &)

BA - B - S9(3) - NRA - BYS ol &y ol o HIRE
= 455,000 0 485,000
401 Al HIZL O] 1,300,000 845,000 455,000
< 845,000 845,000 0
= 455,000 0 455,000
01 A2l 1,300,000 845,000 455,000
OFZFE NEFIA
ZZ& 1,300,000,0003 %14} 1,300,000 845,000 455,000
L= 845,000 845,000 0
= 455,000 0 455,000
g 2¢ 086,616 968,616 18,000
ARIEd |4 X&H 986,616 968,616 18,000
405 AHeHFSB) 58,000 40,000 18,000
01 AL ESHSHI 58,000 40,000 18,000
QA0IE 7Y 15,000,000 *14) 15,000 0 15,000
Og=sd 28 7Y 3,000,000& »14! 3,000 0 3,000
ekl FEE 8- 3,277,000 3,022,000 255,000
ZASEENX L H=al = 2,987,000 2,732,000 255,000
X593 AREL A EUH=KUE 2,237,000 1,982,000 255,000
308 AXIHISOIA 100,000 50,000 50,000
13 S 2SS E & E ALY 100,000 50,000 50,000
OZR! M AEMM E2HI
Z& 100,000,000 *14] 100,000 50,000 50,000
401 AlEHIL 200 405,000 200,000 205,000
01 AlE 8l 405,000 200,000 205,000
OZEE=d 8N M
150,000,000 * 14 150,000 0 150,000
OE=Y FIE B A
55,000,000& %14 55,000 0 55,000
HEANELS3E 1,769,969 1,190,984 578,985
HEAL 22 1,769,969 1,190,984 578,985
AEHFAE A2 369,253 134,253 225,000
201 2erE2EH| 111,400 86,400 25,000
01 Al 22l 31,400 26,400 5,000
OANETEE =Y LXZ(2YCHH, A=
2) 2 22,000,000 14 22,000 17,000 5,000
02 =294l 80,000 60,000 20,000
OLAIHSAY 3SR
Z& 50,000,000 *14 50,000 30,000 20,000
401 AlZHIK OB 90,000 30,000 60,000
01 AlEHI 90,000 30,000 60,000
04712 HEAE A2
Z& 50,000,000 *14] 50,000 20,000 30,000
OAAE A8 ZE 3A
16,000,000 * 14 16,000 0 16,000
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24 UEsHS
M HFAEZZE

= i1|=?§/\|§o-?doa| (ct9: & 2
£A - - A(2) - AIRAE - B4T Oil &l NEA Blnsz
OAMAZ HE WH A
14,000,000 14! 14,000 0 14,000
405 THAHE S| 144,000 4,000 140,000
01 AL EEH S 144,000 4,000 140,000
OAEE =& Zul 1Al
140,000,000 & * 14 140,000 0 140,000
AAAHS2 ALt 118,480 82,480 36,000
201 Ut Iy| 98,480 82,480 16,000
01 AtR2elbl 51,600 45,600 6,000
OCAlE BA 2% AXNS(EI L], A8
S|, =200, A SHe)
28 12,000,0003 14 12,000 6,000 6,000
02 &4l 46,880 36,880 10,000
OAlE ZHl RAb!
ZE& 20,000,000& %14 20,000 10,000 10,000
401 A& BIZL20YI 20,000 0 20,000
01 Al&HI 20,000 0 20,000
U2 Ald=2 A&
20,000,000& x 14} 20,000 0 20,000
SE2SE Al 363,267 270,714 92,553
101 el24d| 7,69% 3,079 4,617
M JIZtHI2ENSES 7,6%6 3,079 4,617
OEE=sd FHAEL 22y
AE 76,9603 20 +53] 7,6% 3,078 4,617
201 LBr2h| 228,571 197,635 30,936
01 AtZ2 el 103,449 101,313 2,136
OMI|AIE R012H| AIAE 9|
178,000& =123 2,136 0 2,136
02 3229l 125,122 96,322 28,800
OEEESH 222= 115,122 %,322 18,800
OZE2sE A=ER3
ZE 2,400,008« 128 28,800 10,000 18,800
OZSEsT MNEEEl sl
10,000,000 2+ 14 10,000 0 10,000
401 AIE 0L 204 120,000 70,000 50,000
01 A&l 120,000 70,000 50,000
OZeI2sE "l 120,000 70,000 50,000
Osgzsa dHA0 N=&EY sA2
AR=2= 23 60,000,000 %14 60,000 50,000 10,000
OFE2sE #2381y
20,000,000 & * 14 20,000 0 20,000
OFE2=8 NERA2
20,000,000& 14! 20,000 0 20,000
405 AtebF S| 7,000 0 7,000
01 ML EEZHSHI 7,000 0 7,000
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SM WEMSH

L HSTENEET

=Rl MEAE 22 CEERSED
SA - B - S2A(B) - HRA - BES 0f sl /X" HimE==]
OE=sE 25J17 F
7,000,000& 14 7,000 0 7,000
AOIZEIIE Ald 22 446,348 390,074 56,274
101 @lZH| 24,628 12,314 12,314
M IJIEMIZ22XEES 24,628 12,314 12,314
OAOIZEJIE FHEH 92
ZAE 76,960 +20* 103 15,392 7.6% 7,696
O=&AYTz FHEFH 22
FE 76,9603 «20H+63] 9,236 4,618 4,618
201 23| 209,760 196,800 12,960
01 At Zclbl 119,760 106,800 12,960
OSEHAME, MYDISERYS
A 6,000,0002 14! 6,000 3,000 3,000
OAIOIZ2EIE LTV RXIE 4|
730,000+ 128 8,760 0 8,760
OAOIZ2EINE JIE EHFN =5
100,000& « 128 1,200 0 1,200
401 Al I L2040 198,000 180,000 18,000
01 Al&Hl 198,000 180,000 18,000
OAIOIZBIIE AE2 SR
Z & 38,000,000 14! 38,000 20,000 18,000
405 At SH) 13,000 0 13,000
01 L ESEFHSHI 13,000 0 13,000
@AI0IZ2 ADIE KAl 7Y
9,000,000 14 9,000 0 9,000
OACIZ2EE HsO & Aoz 2
4,000,000 14 4,000 0 4,000
AEH HIOIEE Al 22 76,584 13,043 63,541
101 2124y| 13,084 6,543 6,541
04 JIZtNIZZ2 XS24+ 13,084 6,543 6,541
OBXEIIE #H ¢2Y
dE 76,960 +8ZH+108 6,157 3,079 3,078
OXEA HOISH =HEH oY
A 76,9603 +9E 103 6,927 3,464 3,463
201 ¢ S| 2,500 1,500 1,000
02 2=22H] 2,500 1,500 1,000
OF= it ZE 2,500,000 14 2,500 1,500 1,000
401 AlEH|L200b) 61,000 5,000 56,000
01 A&l 61,000 5,000 5,000
OBMXE D& Al s X2t
A& 25,000,000 +14] 25,000 5,000 20,000
OBNXZJE tMAA &X| EM
21,000,0002 = 14! 21,000 0 21,000
OBWZIIE SHEH| SA
15,000,000& 14! 15,000 0 15,000
IPUNSHH Algzel 228,917 143,300 85,617
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2Md: USHSH
HE: MSALAY
o2l HFAlE 2el (Sh & S)
SH - ZH . SA(2H) - MRAY - BES Oil &k J 3o HnsZ
101 QI24] 7.6% 3,079 4,617
M N2 2REES 7,6% 3,079 4,617
OIVUMSHEH FHIH AR
2 76,9602 +20H+53) 7,6% 3,079 4,817
401 Al HIL SO 101,000 40,000 61,000
01 Al&H| 101,000 40,000 61,000
OIUHFHEH AlEE8 SRR
20,000,000 *14] 20,000 0 20,000
O=UMSHE HASHEI HISItA MTE
NI L 21,000,000 14! 21,000 0 21,000
ORMSHE BAF 2SI 22
20,000,0008*14] 20,000 0 20,000
405 XraHF S| 20,000 20,000
01 AU SEHSH 20,000 20,000
ORQHUSHH BAY 22I|7 DA
20,000,000 * 14! 20,000 0 20,000
AACISHHSH AEE FA2 98,200 78,200 20,000
201 Y29y 93,200 73,200 20,000
03 A2 20,000 0 20,000
OLISHIUSZ L SE N4
20,000,0002! * 14! 20,000 0 20,000
HRES (LSS 1,904,107 1,355,514 548,593
2RXE 344,936 0 344,936
X3 gt 344,936 0 344,936
802 BHt2|EL 344,93 0 344,93
01 INESZSeHa3 68,255 0 68,255
©2022F XSOISHE J=22Y| & EH(
=1) 1,426,070 1,427 0 1,427
@222 KOS HIE] J|=2 2%l OIXteH (=2
1) 17,750& 18 0 18
@202 XIOISHIE OIS SXI At BBI
H(=1) 25,704,0002 25,704 0 25,704
©2002d UBHMETEXITA SSAIBALY
oIl JI2 TETH U QX Bt
10,926,755 10,927 0 10,927
@223 OISMMEHSISH ESXAAIY
124l IS THEA o 0[N B
29,693,790 29,694 0 29,694
OA2E MEHSXCH ESIAAIY 28
2012 THTAU L O B
484,4702 485 485
02 Al - SHIEESEE2 276,681 276,681
@202 AAT FOPIE4E KA I3
Ttk 232,830,000 232,830 0 232,830
020238 AT S04 NAAIY B
Thol 37,880,000 37,880 0 37,880
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A W
A X

el =2

S - ZH - S2(ZH) - HIRAY - BYS Ol ey NEH Hlus2
©2023F St HAEABCESE N AAY
ZI sl Rk oM 270,0008 270 0 270
©2023F St WY HAHABCSE £ ALY
Ol XpoH 4,360 5 0 5
©2022F XHOISHE J=2dH| &g Ro(
<Hl) 285,2208 286 0 286
©20228 XSE0ISHE J=229H| OIX(T
ui) 3,530% 4 0 4
022 NSOSHE OtSSXILA Fsz
H(<Hl) 5,141,0002 5,141 0 5,141
Q2023 XNABEMDSEASG KR BHt
Ot Xt 264,4759 265 0 265
WEHAXIE 1,559,171 1,355,514 203,657
WEHN X = 1,559,171 1,355,514 203,657
el E=rSE= 1,559,171 1,355,514 203,657
01 JI128E2 1,559,171 1,355,514 203,657
ORSMENRAEIIS HES
AE 1,559,171,0008 « 14 1,559,171 1,355,514 203,657
HMPAFH(RSHE D) 735,225 625,860 109,365
z 133,722 131,821 1,901
[ 32,068 31,926 142
2 569,435 462,113 107,322
OlHZAHHI( DS 648,661 539,8% 108,765
z2 133,722 131,821 1,901
= 32,068 31,9% 142
2 482,871 376,149 106,722
OIH2HH(REHI) 305,028 198,638 106,390
101 2124H] 305,028 198,638 106,390
0B BRE(PINHL) 2224 214,702 108,312 106,390
OHSAE 228 x)224Y
AE 35,0002 %15A1 2t 10« 128 63,000 50,400 12,600
OHSFAE 222 S22 Y 93,790 0 93,790
Oggaesg
113,000 109 +24 2 #150% 40,680 0 40,680
O Y224 {10022150)
113,0009 * 102 942 «50% 53,110 0 53,110
CEAEIE Satalgi2el(e121d]) 68,952 66,577 2,375
) 55,162 53,261 1,901
= 4,137 3,99 142
= 9,653 9,321 332
101 QIAH] 68,952 66,577 2,375
2 55,162 53,261 1,901
[ 4,137 3,99 142
z 9,653 9,321 332
0B SR (PINH) 22 RNE S 68,952 86,577 2,375
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24 UM
Az #HYPGAH(WSHSI)
o2 QIEPEH(USHS) (ch9): He)
SA - ZH - BR(E) - ISAY - BAS ol erey ol & o HIREY
Ol0l=s=AtdIZel Al 2124H] 68,952 66,577 2,375
oJlEs 2 28,836,0002x2F 57,672 57,697 A25
z 46,139 46,158 A19
= 3,460 3,462 YAV
= 8,073 8,077 ng
OB &EAHEI0IN SR
200,000& 121+ 122 2,400 0 2,400
i 1,920 0 1,920
= 144 0 144
s 3% 0 336
JlZ(REMSH 86,564 85,964 600
Jl2He(RSHS) 86,564 85,964 600
201 BH=EE| 57,264 56,664 600
01 AR 2teid 57,264 56,664 600
OLEHNEY S22 LISH 5,100 4,500 600
OM=SAILE 2223 1=
23 300,000 11 3,300 2,700 600
HUd g4dst Jjgt 24 1,046,860 291,860 755,000
HUE AME2 2l 1,046,860 291,860 755,000
=20E H=AE 2o 286,860 231,860 55,000
201 EH2 A 29,660 4,660 25,000
01 Al 2teld| 8,100 3,100 5,000
QUI=LH =8 XN #E
5,000,000& %14 5,000 0 5,000
02 32224 21,560 1,560 20,000
QlUiIstd 2223
20,000,000 14! 20,000 0 20,000
401 Al HI LS| 149,600 139,600 10,000
01 A&t 149,600 139,600 10,000
OIIA=EH AldE |Xl&c
ZE 20,000,000 %14 20,000 10,000 10,000
405 XHotFE SHI 57,000 37,000 20,000
01 A S EF S 57,000 37,000 20,000
ou3a=zZ=F MH=2 Y 1
20,000,000 =104 20,000 0 20,000
YA MIDASZE =4 300,000 0 300,000
401 Al LS00 300,000 0 300,000
01 AlZHI 300,000 0 300,000
QuUIm=EEH E-4 300,000,000 14 300,000 0 300,000
& D2t 2ZF Zd3A 400,000 0 400,000
401 AIEHIL 2Ot 400,000 0 400,000
01 Al 400,000 0 400,000
OogiE et =22 =4
400,000,000+ 14! 400,000 0 400,000

- 227 —






